mEH B EH TG ARE—8

(FfE#eX (RsEh - ERIR) )

ZDxRIF, BEHEN - BBRHEROIHAICLVERLLDLDTY, ERABPFOBHAVEHLEFICDOLTIL,
Bl —2 [EHEAEKRED - BHER

—EB | ICTITHETZLIZE 0,

SM5FEIRARE
BEREEHMEN (B - EFH)
=
5 o PEH | F | = 3 B |
B & |+ BIR|F| K| E| K| &E|h|s|F|5]|8
B R|B|a|w |9 || 6|le|w| 0| @ B|R|
R E By | BT | A || d || BT | BT | BT | A | B[ |F| T
TEITT—O—) J—Jb 2 1
= . EdvL 1
TNy o — L4 Y pya 7
HEER—IL vk 1 2 6 1 2 4 1 2
LT 4T H B 10 | 18 4 1101 13| 5 3 115]| 6 4 11012 1
Yr—Fy R (Yr~yyrza-) |HE 3
77 b
IXRF—FTZR =l
v b
0.75k g
BbHY (7F—FrT7L—) 1.0k g
15k g
ULV T s $2F77v7
a2/
HZ7vF— v b 1 1 2
HhAa—-Yro vk 1 1 1 1 2
FvIR=—ZR—)L Hvh—FhR—IL 2 4
FyvvFUI oY RTUVIIATA VY 16 64 | 32 64 80 | 14
FrR—IL vk 2 1 2 1 2 2 2 2 3 6 1
R EBNBRt Y b 2
77 SR
HR—IL « SRX b 8 16 8 9
S s N 777 10 18 35 6 10
7772 kAT FIU 18 56 6 10
< v b 8
7By T— v b
_ AL 1|28 10
7AYT 4 Z 7 i i
ATA4w7T 10| 21
J—hiR— EARR—IL 10
FENEHA—IL 10 30
T RTY T BED
FTAE TAE
J—J)LR—IL R—JL
mMEHL m -
v—E—X T—r—X
vy 7ILR—F v b 1 1 3 2 1
AT A4y
R—=/R=Ryr— R—IL
d—JL
AhA AR T4 RY 1 15 1
AHhy bR—IL v b 2 1
ALTYITL B4 2 3
(FTART Y R—F A7)
(Ey bEZ=4y k) =NA 21 213|2]|1 1




MEHEEBHEN (R - EFH)

5
s A wEr | | = 5 | »
B & |+ BIR|F| R | E|KR|&E|h|s|F|5]|8
B R|B|a|g |9 |5 6|le|w| 0| @ B|R|
HE By (BT (A | B ||/ | BT | BT | BT (A [ | A | & | m
AhLyFTy b <v b 20
RFw I 7 v b
N Z v b
AE—FHR—J )
7]
AR=YF v N7 |
iz1]
2RI RER Tk 6 4 2 6
Z v b 24
ARy R—IL 12
v b
ATAINR—Y + v b 2 | 2 1 1] 2 2 1|1
RSy T vk 1 7 4 3 1
25w 54y (5vo) |y 1 2 2
AA—A VR b i
/A7 0— R—Il
V7 FERAF=— vk
V7 hANL—R— L R—IL 4| 58516514 5] 3]15 12| 8
. . AV
/7 A 0 6 | 20 6 15
. _ Z7 v b
7 h5082X Ty
957 2 | 2 20
. NN R—JL 11 4
A A T ) 2130 21
<k 1 2 16
2= + v b 2
s R—JL 5 15 10| 3 3] 2 2
#T7TES 2 40 7248 100| 20 4271720 20
KRR — A= 5
Sy b 12|14 35(20[30] 10] 41 10 20
R R—JL 42 15050 40| 68| 10 [100 30 60
v b 9 | 10| 41 5 10 16
S—Uih—iL |27 3 25 [ 12| 10 30
. mEO &
KZILJR—IL Ty
F v AR—) oy b 10
_ . vk 2 4 2
FavgRo NUERIL 2 4 2
1S el = B 11 2 1 2 | 1 3 2
T4 7H08 (FEIY) =
ARV 1 3 2 2
T A —iR—I R—IL 1 2 10
T4 —5 11111 p) 1
T A AN AR—=F h—F
TARZ AN T T—=) T— 2
T ANy b Z oy k 5
FZZR—IIL (BBER) R—IL 23 80 | 70 10 20 20
FZAR—IL (BEK) R—IL 8 20 5
EIThrEURY vk
sty hR=Uvo t v b




MEHEEBHEN (R - EFH)

=
. wEr | | = 5 | »
M| Ml#&® | F | R|E|R|E|F|=|F|7]|F
B R|B|a|g |9 |5 6|le|w| 0| @ B|R|
RE By | BT | A || @ || BT | B | BT | A | A (K| F| T
NN R—IL 3 5
IR I—-RRyIVR=—L| 2 5 5
Ty ZR—L 7\\/7\\/ )
H—IL
o rRES R vay 2
N N % =) 3
U LNRL—R—JL U LR—IL 4 1|11 4 5 8 5
e St 6 28 | 10 17 10
BT gl 1 3 7 2 3 1 3 3
—FLIHR—I v b 2 2 6 2 2 4 1 2
Ty b2 Z Y — VA 6 | 10
VT A4y x—%  TER—IL[R—IL 30 33
Z7 v b 201 20 6
NV FTZX R—L 30| 60 30
v b 5 | 4 4
N2y fEVRY = 1
N2y IR — L R—JL 26 30| 14 3 2 10 10
AT Ay 8
INZ RIR—IL R
m
R—IL 2
N KRRy 7y k 30 11 15
Z v b 60| 7 8 | 14114 8 | 41 20 12
VAN NI N D Y 18 | 12 | 60 40 [ 10 | 25 10
v b 6 4 | 17 10 10
NREILTZX Z v b 4
INT v ZR— )L R—IL
NL—HR—JL R—IL 30
JNJLN L — 2 i 3ty b
=iz k
E—FR—ILNNL — E—FHR—I 7 2
[ el I v b 1 1 2 2 2
Z7 v b 11 9
By JIILR—IL R—JL 9
v b 1
ATA YT 1] 12 11 10 24
oA R—JL 1 4 6 4 2 6
J—Jb 1 2
7w bYILR—IL R—IL
. . (MY LR—I) 2 1 1111 4 5 8 5
dAm A ERUAN 1 1 1 1
TARY 64 151322023 7 122] 28 18 | 10
I FvFeE— 6 6 13124 7 31|15 92| 8 10| 9 6
7747 T4 R7ER =T = Ty > 7
(FF¥a5v—a3-) 2 1
_ R . R—L
7777y MR—IL v
Z v b
7)—7T=X Rr—IL
F v b
7777 777—-7 7 5 |10 18 15
7)—70— v b 2 2




MEHEEBHEN (R - EFH)

’::E
. =
15 E mEWN —F '%' I——:E ,%"u] "
a ||+ I O T N = - = == I == B3 Il
slelBla|s| 5| g|w|e|ls|n|s|x|® i
HE By (BT (A | | | | BT | BT | BT | A [ A | | & | 5| 5
A=) S AV
ATAYY
7|:|7,‘J—\\‘//7"— #:/Q—ﬁﬁxf'%\‘/7
Ny Y
J—Jb
AT
Ja—247)L R—IL
i
Ay h— SV 1 2
. _ Z oy k 16 201 12| 8 | 10 24 | 12| 25
oSy :X N
ST T 11 10757182 1074730
R7 YL T e FowF (YU FFoR) 7 17 10 10
_RRy vk 5 4 1 13| 5 3 9 8 8 4 4
ANILANL —FHR—JL F—n (F—rns—) |1 1 4 4 6 3 4
ATA4Y7
ROy Y
/ ]
K=l x—F vV THR—IIL|FE—IL 60 26
Ry b J—JL
N _ » /%Eﬁ?
HR—RX2—X )
Ry 7 ARy o — t v b 2 1
Ry F v 2 2 2 4 3 4 2 4 4 4 15) 2
Ry TFx J—hy—F | 2 1 4
Sy 2
2Ly kLT 7174‘77 18 | 30 | 30 551 8 [ 31| 31 30
=L 18 | 15| 40 64 | 20| 31 | 85
- _ Zy k
T =—7=-X Ny
EILy Y S AV 1 2 2 2 2
aO=AhH—J)L v b 1
AT AT 24 48 18 | 46
d=kRy 7y R—JL 10 3 28 | 28
J—Jb 2 4 2
_ . vk
TR TZX -
7 7 FiE
77 E— =L
78—y E— v b 1
. N ENBtE Y k
A—>HR7ILX e
ERALE Y b
B f wlrae 2 2 3 1 3 2 2 1 1
i T 21728 71 381727130107 4
TNy RAsE~5 L — [ R—JL 2 |10 8 3|10 8 8 4 4 6 4 5 4
ZothnEBERVABESE
RN - B EEAT AR

s —aNT—L4 (1)

cRESAoR—Yvs (1)

“a—%y b=y b (1)

i S5me 42—t —L (1€vh) - ZT7LZyF (200 - 22Ky Frv (2)

WA cWeodR— (1ev b)) - 77IU=n"FIvby 102y F)
“F+E (1evyb) - v7b7x—LT 127 (20)

eS0T - 7A—FR (EF Iy R, K-, ¥2-7%1)

- TLNL—y (ERE. BAREZL)

B S HT

R —bR—F (F—F8, A5 42—6, R5—FrER—FA>»71)




